Manuals+ — User Manuals Simplified.

ULINE H-8520 4-Drawer Tool Cart User Guide

Home » ULINE » ULINE H-8520 4-Drawer Tool Cart User Guide '

Contents

1 ULINE H-8520 4-Drawer Tool Cart User Guide
2 TOOLS NEEDED
3 PARTS
4 SAFETY
5 ASSEMBLY
5.1 ATTACH CASTERS
5.2 ATTACH LEGS
5.3 ATTACH STRUTS
5.4 ATTACH CHEST
5.5 ATTACH HANDLE
6 Read More About This Manual & Download
PDF:

7 Documents / Resources
8 Related Posts


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/uline
https://manuals.plus/uline/h-8520-4-drawer-tool-cart-manual.pdf

ULINE H-8520 4-Drawer Tool Cart User Guide

TOOLS NEEDED

M

5 mm Hex Wrench

13 mm Wrench

PARTS



Swivel Rigid
Casterx 2 Caster x 2

P F ¢

516 x1/2" 5/16x5/8" M8X15mm
Bolt x 38 Bolt x 2 Hex Head

Bolt x 16
1’ "'l

13 mm M8 Nut
Nut x 40 X 16

Bottom Tray x 1



= N RSN

Long Strut x 2 Short Strut x 2

l'l.l_.'un .g. nln."'-_l
lae e

Cr’r Key x 2 Drawer Liner x 4

SAFETY

& CAUTION! Only open one drawer at a time to keep cart from tipping over.

« Close chest lid and lock drawers before

« Do not stand on the cart or climb on Doing so may result in injury.
« Do not place the cart on truck bed or any other moving

« Lock swivel casters to keep car

« Do not Push to move.

« Lubricate the top and bottom channels of the drawer slides at least twice a year.

ASSEMBLY

Figure 1

[
o
e




ATTACH CASTERS

1. Place bottom tray on (See Figure 1)

2. Align caster with holes on bottom

3. Attach caster to the bottom of tray with four M8 hex head bolts and four M8 Ensure the bolt heads are inside
the tray. Use hex wrench to tighten, but don’t fully secure until all casters are attached.

4. Repeat Step 3 for the remaining

@ NOTE: Install rigid casters on one end of bottom tray and swivel casters with brakes on the opposite end.

5. Completely tighten all

Figure 2

L

ATTACH LEGS

1. Place the bottom tray (with casters) Lock the swivel casters. (See Figure 2)
2. Attach leg to the outside of tray with four 5/16 x 1/2" bolts and four 13 mm

NOTE: Position leg so two holes near middle are closer to bottom tray.

NOTE: Ensure that bolt heads face outward.

3. Repeat Step 2 for the remaining three
4. Completely tighten all



Figure 3

B

Short Strut

——
|
——

ATTACH STRUTS

1. Attach long strut to the inside of the legs with two 5/16 x 1/2" bolts and two 13 mm (See Figure 3)

NOTE: Ensure that the strut lip faces inward and downward.

2. Repeat Step 1 for the second long
3. Attach short strut to the inside of the legs with two 5/16 x 1/2" bolts and two 13 mm

NOTE: Ensure that the strut lip faces inward and holes face upward.

4. Repeat Step 3 for the second short
5. Completely tighten all bolts.

Flgure 4

B

ATTACH CHEST

1. Place chest inside Make sure that holes at the top of the legs align with holes on chest. (See Figure 4)
2. Choose which side to install On the side without the handle, thread four 5/16 x 1/2" bolts and four 13 mm nuts
to each corner. On the side where handle will be installed, only thread two 5/16 x 1/2" bolts and two 13 mm

nuts on top, leaving the bottom holes open.



ATTACH HANDLE

1. Align handle with remaining open holes from last (See Figure 5)
2. Attach handle with the two 5/16 x 5/8" bolts and two 13 mm Tighten nuts from inside the chest.

Read More About This Manual & Download PDF:

Documents / Resources

ULINE H-8520 4-Drawer Tool Cart [pdf] User Guide
H-8520, 4-Drawer Tool Cart

Manuals+,


https://manuals.plus/m/0a0f7b807d7240fb2d93ee033e7e46b5dc0b5104b403ff6c9cc88d24dfa30458
https://manuals.plus/m/0a0f7b807d7240fb2d93ee033e7e46b5dc0b5104b403ff6c9cc88d24dfa30458_optim.pdf
https://manuals.plus/

	ULINE H-8520 4-Drawer Tool Cart User Guide
	ULINE H-8520 4-Drawer Tool Cart User Guide
	TOOLS NEEDED
	PARTS
	SAFETY
	ASSEMBLY
	ATTACH CASTERS
	ATTACH LEGS
	ATTACH STRUTS
	ATTACH CHEST
	ATTACH HANDLE

	Read More About This Manual & Download PDF:
	Documents / Resources


